N of reco track vs dxy(PV)

10°
10*
10°
10°

10

0.

=25~ 20 15—10 -5 0 5 10 15 20 25

| N of associated (recoToSim) tracks vs dxy(PV)

0.

%95=26-15-10 -5 0 5 10 15 20 25

N of associated (recoToSim) looper tracks vs dxy(PV)

N of reco track vs

—— DQM_TT__mkFit-DQM_init_orig
——— DQM_TT__mkFit-DQM_init_modi

5_;555;_:
HHHHH\%HH a1 IHEHH\HHH\HH
ML WHHM L

035 —20 100 10 20 30

N of reco track vs dz(PV)

=l

[N of associated (recoToSim) tracks vs dz(PV) ]

H e =

30 20

o 00 10 20 30

N of associated (recoToSim) tracks vs dz(PV) |

1HWWHH@NHHM@N

10

HIM
[ & | mu\m

02 0 0.2

" 1 1 1 1 1 1 1 1
£ i
05 =56-15-10 5 0 5 10 15 20 25

: NI
: B0
: B0 o
il
Mt
0.95 Mg
0.2

1 -1-0.8-0.6-0.4-0.

%39

i
L

20

-20 -10

N of associated (recoToSim) looper tracks vs dz(PV)

20 30

ik



	Contents
	Page 1


